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Exercise 10 1

1. Draw a line AB.Take a point C outside it

.Through C draw a line parallel to AB,using

ruler and compass.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eD2rPh0ilhuw


Watch Video Solution

2. Draw a line parallel to a line l at a distance

of 3.5 cm from it .

Watch Video Solution

3. Let l be a line and P be a point not on l.

Through P, draw a line m parallel to l. Now
join

P to any point Q on l. Choose any other point

R on m. Through R, draw a line
parallel to PQ.

https://dl.doubtnut.com/l/_eD2rPh0ilhuw
https://dl.doubtnut.com/l/_VdL7jDsRiyFX
https://dl.doubtnut.com/l/_cRgvnuNRfSMt


Let this meet lat S. What shape do the two

sets of parallel lines enclose?

Watch Video Solution

4. Howmany parallel lines can be drawn ,

passing through a point not lying on the given

line ?

A. 0

B. 2

C. 1

https://dl.doubtnut.com/l/_cRgvnuNRfSMt
https://dl.doubtnut.com/l/_GgTNrjX4Zuk7


D. 3

Answer: C

Watch Video Solution

5. Which of the following is used to draw a line

parallel to a given line ?

A. A protractor

B. A ruler

C. A compasses

https://dl.doubtnut.com/l/_GgTNrjX4Zuk7
https://dl.doubtnut.com/l/_UcAiLR7j2WRZ


Exercise 10 2

D. A ruler and compasses .

Answer: D

Watch Video Solution

1. Construct a  in which AB = 3.5 cm , BC

= 5 cm and CA= 7 cm .

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_UcAiLR7j2WRZ
https://dl.doubtnut.com/l/_8Wp0HyDfzDG6
https://dl.doubtnut.com/l/_pOY0MlTPivsK


2. Construct a triangle ABC in which AB= BC =

6.5 cm and CA = 4 cm . Also name the kind of

triangle drawn .

Watch Video Solution

3. Construct a triangle XYZ such that length of

each side is 5 cm .Also name the kind of

triangle drawn.

Watch Video Solution

https://dl.doubtnut.com/l/_pOY0MlTPivsK
https://dl.doubtnut.com/l/_AD6gGmW2HbAc
https://dl.doubtnut.com/l/_X5CC4vFeLvfM


4. Construct a triangle PQR such that PQ = 2.5 ,

QR = 6cm and RP = 6.5 cm . Also name the kind

of triangle drawn .

Watch Video Solution

5. Construct a triangle ABC , in which AB = 6 cm

, BC = 2 cm , CA = 3 cm . (If possible ). If not

possible give the reason .

Watch Video Solution

https://dl.doubtnut.com/l/_X5CC4vFeLvfM
https://dl.doubtnut.com/l/_ebocrPpKJuxS


6. Which of the following can be used to

construct a triangle ?

A. The lengths of the three sides

B. The perimeter of the triangle

C. The measures of three angles

D. The name of three vertices

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hxZJymRwzmh4
https://dl.doubtnut.com/l/_nnmxLjw2NCMt


7. A triangle can be constructed by taking its

sides as

A. 1.8 cm , 2.6 cm, 4.4 cm

B. 3 cm ,4 cm , 8 cm

C. 4 cm , 7 cm , 2 cm .

D. 5 cm , 4 cm, 4 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nnmxLjw2NCMt


Exercise 10 3

1. Construct  such that AB= 4cm , 

 . Also name the type

of this triangle on the basis of sides .

Watch Video Solution

ΔABC

∠B = 30∘ , BC = 4cm

2. Construct  with AB = 7.5cm , BC = 5

cm and  .

Watch Video Solution

ΔABC

∠B = 30∘

https://dl.doubtnut.com/l/_HaCCLmMFIFsj
https://dl.doubtnut.com/l/_48LCvf66ZPEu


3. Construct a triangle XYZ such that XY = 6 cm

, YZ = 6 cm and  . Also name the

type of this triangle .

Watch Video Solution

∠Y = 60∘

4. Which of the following triangle can be

constructed using SAS eriterion .

A. 

B. 

AB = 5cm, BC = 5cm, CA = 6cm

AB = 5cm, BC = 5cm, ∠B = 40∘

https://dl.doubtnut.com/l/_cDtrOC5WKJeX
https://dl.doubtnut.com/l/_T4IzCUPMWoZq


Exercise 10 4

C. 

D. 

Answer: B

Watch Video Solution

∠A = 60∘ , ∠B = 60∘ , ∠C = 60∘

BC = 5cm, ∠B = ∠C = 45∘

1. Construct  , given AB=6cm, 

.

Watch Video Solution

ΔABC

∠A = 30∘ and ∠B = 75∘

https://dl.doubtnut.com/l/_T4IzCUPMWoZq
https://dl.doubtnut.com/l/_YqgppkcCN77l


2. Construct a triangle ABC with perimeter 10

cm and each base angle is of .

Watch Video Solution

45∘

3. Construct if 

Watch Video Solution

ΔXY Z

XY = 4cm, ∠Y = 45∘ and ∠Z = 60∘

https://dl.doubtnut.com/l/_YqgppkcCN77l
https://dl.doubtnut.com/l/_I05TBcQAA0go
https://dl.doubtnut.com/l/_adTeYYUfauTf


4. Examine whether you can construct 

such that

 cm .

If not possible give reason .

Watch Video Solution

ΔPQR

∠P = 100∘ , ∠Q = 90∘ and PQ = 4.3

5. In Which of the following cases a unique

triangle can be drawn ?

A. 

BC = 5cm, ∠B = 90∘ and ∠C = 100∘

https://dl.doubtnut.com/l/_indChoujgwls
https://dl.doubtnut.com/l/_temXENXSJqI0


B. 

C. 

D. An isosceles triangles with length of

each equal side equal to 5 cm .

Answer: C

Watch Video Solution

AB = 4cm, BC = 7cm and CA = 2cm

XY = 5cm, ∠X = 45∘ , ∠Y = 60∘

https://dl.doubtnut.com/l/_temXENXSJqI0


6. An triangle can be constructed by taking

two of its angles as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

110∘ , 40∘

70∘ , 115∘

135∘ , 45∘

90∘ , 90∘

https://dl.doubtnut.com/l/_Tx9KB55FeBt3


Exercise 10 5

1. in a right angled triangle ABC with

 . find

AC

Watch Video Solution

∠C = 90∘ , AB = 5cm and BC = 3cm

2. Construct an isosceles right angled triangle

DEF where  .

Watch Video Solution

∠E = 90∘ and EF = 6cm

https://dl.doubtnut.com/l/_e7nmseJPqtRI
https://dl.doubtnut.com/l/_b9rEkKabs97Z


3. Construct a right angled triangle PQR in

which

 .

Watch Video Solution

∠Q = 90∘ , PQ = 3.6cm and PR = 8.5cm

4. Which of the following is a pythagorian

triplet ?

A. 1,2,3

B. 2,3 , 4

https://dl.doubtnut.com/l/_ErGnGeO0mBiv
https://dl.doubtnut.com/l/_EH6udQOvRzgt


C. 4 ,5 , 6

D. 

Answer: D

Watch Video Solution

12, 13, 5

5. Construction of unique triangle is not

possible when

A. Three sides are given .

https://dl.doubtnut.com/l/_EH6udQOvRzgt
https://dl.doubtnut.com/l/_LfIIyalNSrsG


Other Important Questions

B. Two sides and an included angle are

given .

C. Three angles are given .

D. Two angles & included side are given .

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LfIIyalNSrsG


1. Fill in the blanks : 

Through a poin not lying on the the given

lines we can draw ……… parallel lines .

Watch Video Solution

2. To draw a line parallel to given line we use

…….. .

Watch Video Solution

https://dl.doubtnut.com/l/_iZqGjFJ3H4lZ
https://dl.doubtnut.com/l/_5YckJqEB8rLM


3. Sum of the lengths of two sides of a triangle

is ………. Than the length of third side .

Watch Video Solution

4. A triangle can be constricted if two sides

and ………. Between them us given .

Watch Video Solution

https://dl.doubtnut.com/l/_SEVN4lEXab0F
https://dl.doubtnut.com/l/_IAWrGmTBrzpV


5. A triangle can be constructed if two sides

and …….. Between them is given .

Watch Video Solution

6. A triangle can be constructed if three …….

Are given

Watch Video Solution

https://dl.doubtnut.com/l/_qHY4FfJoA0dd
https://dl.doubtnut.com/l/_rjSGkrEBcsfw


7. State whether the following statements are

true or false . 

A triangle can be constructed if its three

angles are given .

Watch Video Solution

8. A triangle can be constructed by taking

sides 3 cm , 7 cm , 4 cm .

Watch Video Solution

https://dl.doubtnut.com/l/_cBp5CfJsbHT4
https://dl.doubtnut.com/l/_bvTaKQPV2cgw
https://dl.doubtnut.com/l/_3pBvda245yOt


9. A triangle can be constructed if its

perimeter is given .

Watch Video Solution

10. A triangle can be constructed if AB= 7 cm ,

BC = 6 cm and  .

Watch Video Solution

∠B = 60∘

https://dl.doubtnut.com/l/_3pBvda245yOt
https://dl.doubtnut.com/l/_hsvYqTt67r14


11. A triangle can be constructed if AB= 7 cm ,

BC = 6 cm and  .

Watch Video Solution

∠B = 60∘

12. A triangle can be constructed by taking two

of its angles as  .

Watch Video Solution

130∘ and 50∘

https://dl.doubtnut.com/l/_FMS4YCqgM1PP
https://dl.doubtnut.com/l/_plQvOhvBV3V6

